B 152 EZEZ No K% K£ht SOER B2 |EEH
1[3km /NFEEZELF | 3221 [/hith E4T a4 35 0:14:41[3B1E 21
2|13km /NFEHERZELZF | 3202 |FH 2% EPZ I LS 0:15:09[#:B 18 21
3|3km /INFHERFELF | 3232 [#HH B A% \JL 0:15:14|$18182 21
4|3km /NEHERZELF | 3224 LU XFi Y¥x 7HY 0:16:14[FB1E 21
5|3km /NEHERFELF | 3228 |HhEF EA +h/ avx 0:16:26[F:B 12 21
6|3km /NFEEIRSFELF | 3245 |FR BE FSHD LS 0:17:17(FBE 21
713km /NEERFELF | 3230 |80 BE B=JF 1)F 0:17:19[FrBIE 21
8|3km INFHERZELTF | 3214 B 51 BHNY 94 0:17:31[FBE 21
9|3km /NEHEIRSFELF | 3212 |7UE =& 7Y 93 0:17:36|Fa 8 21
10[3km /NEHEFELZF | 3213 |HN E& ALT Ay 0:17:39 |88 21
11[3km /INEHEIRZELF | 3233 [#EF HE =i 0:17:41[FBIE 21
12[3km /NEHIEFELF | 3211 |JIlE BHAE hOHT o 0:17:42|Fia 8 21
13[3km /NEEIRZELF | 3217 [ FE4T FThLS 35 0:18:18[#BIE 21
14[3km /NFEHIEFELF | 3235 |£R BT hxa aX 0:19:30[ REFE 21
15[3km /INEHEIRZELF | 3219 (B BF 147F% T 0:20:04|#7:B 12 21
16[3km /NEHEIEZELF | 3218 [#H £i1hH 334 EEH 0:20:05(#: 818 21
17|3km /NEHEIERZELF | 3203 [#ME # IVE TY 0:20:20(#r:B 12 21
18[3km /NEHEFELF | 3223 |IUAX F1H YYEL THhF 0:20:24 |38 12 21
19(3km /NEHEFFELZF [ 3243 Bl BE NYHT LT 0:20:32|FE R 21
20[3km /NEEIRFELF | 3227 |BFE =1E X% ah 0:20:34|#:B 18 21
21[3km /NEERFELF | 3222 |FFA HT JEN 4AFH 0:20:55|#:B8 18 21




